MCGJ series

TWIN-GUIDE CYLINDER mindman

Features:

® Make use of air to drive the push and pull of rod can achieve the
effect of highly accurate operation.

@ Bore sizes ¢ 12mm~ ¢ 100mm are available for various needs.

® 2 up to 6 reed switch with/without contact point type can be available
as per actual need.

@ Piston rod is made of wear-resistant stainless or carbon steel.

Specification:
Model MCGJ
: Model e— |( /\%/\l {0
< § (Up view) S M"\éi/”j )

Acting type Double acting
Tube 1.D.(mm) 12,16 | 20,25 32,40 (50,63,80,100
Port size Rc(PT) M5 X 0.8 PT 1/8 PT 1/4
Medium Air
Operating pressure range 1~9.9 kgf/cm®
Proof pressure 15 kgf/cm®
Ambient temperature —5~4+607C (No freezing)
Lubrication Not required
Cushion Without With rubber cushion pad
Sensor switch RCE,RCE1|  RCB | RCE, ROE1|RCE,RCE1,RCB

Order example:
Table for standard stroke

MCGJ o ] 2 T .I 2 - 50 o BSP Series | Bearing| Tube Sl o)

‘ N variety(type | LD. [ 5 | 10| 15 | 20 | 25 | 30 | 35 | 40 | 45 | 50
d12

$16
STROKE $20

¢ 25
i 32

e, [

PURPOSE / TYPE OF BEARING $40

MODEL TUBE I.D.

¢ 50
Code | Purpose / Type of bearing 563

12 | Lift/ Slide bearing PORT THREAD ¢80
Blank: PT thread $100
BSP: BSP thread

NPT: NPT thread e Please consult us if stroke out of specification.




MCGJ Inside structure & Parts list

TWIN-GUIDE CYLINDER

it
:

o8

NS

Sousie

&

Material
No Part name Material
1 Body Aluminum alloy
2 | Coverring NBR
3 | Rod cover Aluminum alloy
4 | Rod bush Copper
5 | Rod packing NBR
6 | Rod cushion NBR
7 | Pistonrod Carbon steel
8 | Piston Aluminum alloy
9 | Piston for magnet ring Aluminum alloy
10| Magnet ring Magnet material
11| Piston packing NBR
12| Wearring Teflon
13| Piston gasket NBR
14| Screw Carbon steel
15| Head cushion NBR
16| End cover Aluminum alloy
17| Snap ring Carbon tool steel
18| Plate Aluminum alloy
19| Guide rod Carbon steel
20| Guide rod bush Copper
21| Screw Carbon steel
22| Screw Carbon steel

mindman



MCGJ

TWIN-GUIDE CYLINDER mindman
®12, 616 ¢ 20,¢ 25 ¢ 32~¢ 100
BD
‘ BC_,_ BC ‘
BF BF ‘
BE, BE BE , BE
= @ ?
&) o8 L T 19 A o ’ ) o
a O a A —. MDD
a o 19 ©®6 o o TO—© %——O\Q)G/
I «Q @) (0] w
C o@/ w =
{} &/
$D1
D1 2602 4 I
[ T ‘ ] o) 2-$D2 »D1
2.402 L. et ] o, . o =
< ﬂ#]‘ _T E [ ] o
T . . ol [, [
o 2 o | =
i 2 3 5 @ I Vo
2-EE i =N F N 6
1 2 N o +| N !__E )
\@ & oo I 5
- il o £
I | N i 32
‘ 2-EE 11 £ N
|
Y w 2-EE iy
4-MM x BB(tap) 2-MM x BB (tap) Pt \,CD
g0
) f
T
T o
2- ¢ N(thru) T 1
dp | \—':f
2- ¢ O X DD(sink) { = @
E ) :
N S 2-MM x BB (tap) / \
\ T
-
OE
w
2 |pglBc|BD|BE|BF|D1|D2|DD|E| EE [G|H| K |[LH| MM |[N|o|[PA[PB| S |U|[V|wW]|zz
12 10| o 27| o 27| 6] 4 155 M5x0.8| 6] 4.5/ Max0.7 M5x 0.8 65| 6522 [125) 25| 32325
16 (1010 ] 31|10 31| 6] 4 20 [m5x08[ 6] 5 [Mmaxo07 M5 0.8 7.2| 7.2] 28.5] 14.5] 29| 38[39.5
20 (10|10 | 32[18 | 50|10 | 5 36 |M5x08| 8| 4 [Mex1.0 |30 |MBx1.0 8 | 55[205(15 | 37| 47415
25 (10|12 | 37|20 | 54[12 | 5 40 |M5x0.8| 8| 4.5|M6x1.0 |35 |M6x1.0 95| 55|325( 175 40| 52|45
32 [10|16| 47|20 | 56|16 | 6| 7 |34 | PT1/8 [10| 6.5|M6%x1.0 | 495 M6x1.0 |55 9 [105] 8 |33 [225 45495
40 |10 |19 | 54|25 | 64|16 | 6| 7 [40 | PT1/8 [10| 65| M8x1.25|57 |M6x1.0 |55/ 9 [11 |8 |[395]26 52 | 56
50 [14 |24 | 66|30 | 80|20 | 8| 8 |50 | PT1/4 |12| 7.5|M8x1.25| 71 | M8x1.25 | 6.6{10.5/10.5[10.5| 40.5 32 64 |60
63 |18 (31| 80|38 | 94[20 [10(105/60 | PT1/4 12| 7.5|M8x1.25| 84 | M10x15 |9 [14 |14.5(10.5|46 |385 77 |65.5
80 |22 |38 [100[40 [108]25 [12]11 |77 | PT1/4 [15|15 [M10x1.5|104 | M12x1.75[11 [17.5[20 [12 |52 |49 98 | 82
100 |22 |46 |120|48 [128]30 [12|11 |94 | PT1/4 [18[19 |M10x1.5[123.5| M12x1.75|11 |17.5[22 |13 |57.5| 585 117 |94.5




MCGJ Installation of sensor switch ¢ 12~¢ 100 M

TWIN-GUIDE CYLINDER mindman

Sensor switch: RCE, RCE1
Tube I.D.(mm): ¢ 12,¢ 16, ¢ 32, ¢ 40

[, 1l

Sensor switch

© oo

3
d

Watchmakers screw

d /driver
2\

RCE, RCE1
Sensor switch: RCB Sensor switch: RCB, RCE, RCE1
Tube I.D.(mm): ¢ 20, ¢ 25 Tube I.D.(mm): ¢ 50~¢ 100

[P—— T7et T

?
Q

—
Code | A | B | C | D E @ @
Tube I.D.
20 38 | 22 6 | 16 | 22
25 | 43 |25 6 | 16 | 22 c ‘
50 72 | 40 6 16 | 22 B
63 | 85 |465| 6 | 16 | 22 A
80 | 106 | 57 6 | 16 | 22
100 [ 125 |665| 6 | 16 | 22




	1_Specification
	2_Inside structure 
	3_Dimensions
	4_Installation of sensor switch

